BEIDEAWD A

B ECEIIREIIIEFEANEILL),

@ Ikg 730g = g
@ 6670g = kg g
® 10400kg = t kg
@ 10t900kg = kg
® 1060 g = kg g
® | 100kg = t kg
@ 18kg 900g = g
13t = kg

@ 21t = kg

| 100g = kg 9
@ 560000kg = t
@ Ikg 200g = g

/24

® 1820kg = t kg
@ 1700009 = kg
® 9t70kg = kg
19500 g = kg g
@ 44100g = kg g
qt = kg
11200kg = kg
@ 70800 g = kg g
@) 37100kg = t kg
@ 1120g = kg g
@ 13kg = g

@ 50000kg = t




BEIDEAWD A

B ECEIIREIIIEFEANEILL),

® Ikg 730g = 1730 g
@ 6670g =| 6 kg 670 g
@ 10400kg = | 10 t 400 kg
@ 10t900kg = | 10900 kg
® 1060g =| | kg 60 g
® 1100kg =| | t 100 kg
@ 18kg900g = 18900 g
13t =| 13000 kg

@ 21t =| 21000 kg

@ 1100g =, | kg 100 g
@ 560000kg = 560 t
@ Ikg 200g = 1200 g
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@ 1820kg = | t 820 kg
@ 170000g = 170 kg
® 9t70kg = 9070 kg
® 19500g = 19 kg 500 g
@ 44100g = | 44 kg 100 g
gt =| 9000 kg
11200kg = 1200 kg
@ 70800g =| 70 kg 800 g
@) 37100kg = | 37 t 100 kg
@ 1120g =| | kg 120 ¢
@ 13kg = 13000 g

@ 50000kg = 50 t




